

NET 30

Standard Purchase Order Arlington Public Schools

PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123 ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Please note that our billing address has changed.

Destination

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

	Page: 1 of 8
Purchase Order	2200736
Purchase Order Date	02-AUG-2021
Change Order Number	0
Change Order Date	
Procurement Specialist/Phone	Kimberly Young
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@apsva.us
FEIN	54-6001128

SUPPLIER: KENDALL/HUNT PUBLISHING CO. 4050 WESTMARK DRIVE DUBUQUE IA 52004

Payment Terms | Freight Terms | FOB

Prepaid

packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

This PURCHASE ORDER NUMBER shown above must appear on all invoices,

Ship To: Innovation Elementary School Attn: Main Office 2300 Key Blvd Arlington, VA 22201

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
1	978-1-4652-619	Item	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	7-7	#978-1-4652-6197-7,Unraveling the					
		Mystery of the MoLi Stone: Place Value & Numeration, Level 3-4,					
		Student Journal					
2	078 1 4652 807	Item #978-1-4652-8075-6,	16-AUG-2021	4.00	Each	\$221.00	\$884.00
2	5-6	Unraveling the Mystery of the MoLi	10-AUG-2021	4.00	Lacii	\$221.00	Ψ004.00
	5 0	Stone: Place Value & Numeration,					
		Level 3-4, Teacher Guide + 3-year					
		eBook license					
3	978-1-4652-660	Item #978-1-4652-6601-9,	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	1-9	Unraveling the Mystery of the MoLi					
		Stone: Place Value & Numeration,					
		Level 3-4, Card Set (includes Hint,					
		Think Beyond, and Word Wall					
4	070 0 7575 250	cards)	16 AUG 2021	4.00	E1.	¢256.07	¢1 424 20
4	978-0-7575-258 4-1	Item #978-0-7575-2584-1, Unraveling the Mystery of the MoLi	16-AUG-2021	4.00	Each	\$356.07	\$1,424.28
	4-1	Stone: Place Value & Numeration,					
		Level 3-4, Manipulative Kit					
5	978-1-4652-623	Item #978-1-4652-6232-5, How Big	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	2-5	is Big?: Understanding & Using					,
		Large Numbers, Level 3-4, Student					
		Journal					
6	978-1-4652-807	Item #978-1-4652-8078-7, How Big	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	8-7	is Big?: Understanding & Using					
		Large Numbers, Level 3-4, Teacher					
	070 1 4652 652	Guide + 3-year eBook license	16 AUG 2021	4.00	F 1	¢42.05	Φ1 77 00
7	978-1-4652-653 6-4	Item #978-1-4652-6536-4, How Big	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	0-4	is Big?: Understanding & Using Large Numbers, Level 3-4, Card Set					
		(includes Hint, Think Beyond, and					
		Word Wall cards)					
		ozd an caras)	l l		l		



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123 ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Please note that our billing address has changed.

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

Purchase Order	2200736
Purchase Order Date	02-AUG-2021
Change Order Number	0
Change Order Date	
Procurement Specialist/Phone	Kimberly Young
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@apsva.us
FEIN	54-6001128
Website: https://www.apsva	n.us/procurement-office/

Page:

2 of 8

SUPPLIER: KENDALL/HUNT PUBLISHING CO. 4050 WESTMARK DRIVE

DUBUQUE IA 52004

packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

This PURCHASE ORDER NUMBER shown above must appear on all invoices,

Ship To: Innovation Elementary School Attn: Main Office 2300 Key Blvd Arlington, VA 22201

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
8	978-1-4652-761 6-2	Item #978-1-4652-7616-2, How Big is Big?: Understanding & Using Large Numbers, Level 3-4, Manipulative Kit	16-AUG-2021	4.00	Each	\$279.73	\$1,118.92
9		Item #9780688099336, How Big is Big?: Understanding & Using Large Numbers, Level 3-4, How Much is a Million Trade Book (201698)	16-AUG-2021	4.00	Each	\$7.68	\$30.72
10	9780794519247	Item #9780794519247, How Big is Big?: Understanding & Using Large Numbers, Level 3-4, How Big is a Million Trade Book (201700)	16-AUG-2021	4.00	Each	\$12.08	\$48.32
11	978-1-5249-581 7-6	Item #978-1-5249-5817-6, Awesome Algebra: Looking for Patterns & Generalizations, Level 3-4, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00
12	978-1-5249-581 6-9	Item #978-1-5249-5816-9, Awesome Algebra: Looking for Patterns & Generalizations, Level 3-4, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00
13	978-1-4652-660 3-3	Awesome Algebra: Looking for Patterns & Generalizations, Level 3-4, Card Set (includes Hint, Think Beyond, and Word Wall cards)	16-AUG-2021	4.00	Each	\$43.95	\$175.80
14	978-0-7575-288 9-7	Item #978-0-7575-2889-7, Awesome Algebra: Looking for Patterns & Generalizations, Level 3-4, Manipulative Kit	16-AUG-2021	4.00	Each	\$55.73	\$222.92
15	978-1-4652-621 3-4	Item #978-1-4652-6213-4, Factors, Multiples & Leftovers: Linking Multiplication and Division, Level 3-4, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00



NET 30

Standard Purchase Order Arlington Public Schools

PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123

2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

ACCOUNTS PAYABLE

Please note that our billing address has changed.

Destination

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

Purchase Order Date	02-AUG-2021
Change Order Number	0
Change Order Date	
Procurement	Kimberly Young
Specialist/Phone	
	Castillo, Esmeralda
Requisitioner/Ph#/Email	703-228-6160
	esmeralda.castillo@apsva.us
FEIN	54-6001128
Vebsite: https://www.apsva	a.us/procurement-office/

Page:

3 of 8

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

Ship To: Innovation Elementary School Attn: Main Office

2300 Key Blvd Arlington, VA 22201

Payment Terms	TD	FOB

SUPPLIER: KENDALL/HUNT PUBLISHING CO.

DUBUQUE IA 52004

Prepaid

4050 WESTMARK DRIVE

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
16	978-1-4652-808 1-7	Item #978-1-4652-8081-7, Factors, Multiples & Leftovers: Linking Multiplication and Division, Level 3-4, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00
17	978-1-4652-660 7-1	Item #978-1-4652-6607-1, Factors, Multiples & Leftovers: Linking Multiplication and Division, Level 3-4, Card Set (includes Hint, Think Beyond, and Word Wall cards)	16-AUG-2021	4.00	Each	\$43.95	\$175.80
18	978-1-4652-620 9-7	Item #978-1-4652-6209-7, Digging for Data: Collecting, Displaying and Analyzing Data, Level 3-4, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00
19	978-1-4652-808 2-4	Item #978-1-4652-8082-4, Digging for Data: Collecting, Displaying and Analyzing Data, Level 3-4, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00
20	978-1-4652-660 6-4	Item #978-1-4652-6606-4, Digging for Data: Collecting, Displaying and Analyzing Data, Level 3-4, Card Set (includes Hint, Think Beyond, and Word Wall cards)	16-AUG-2021	4.00	Each	\$43.95	\$175.80
21	978-0-7575-289 1-0	Item #978-0-7575-2891-0, Digging for Data: Collecting, Displaying and Analyzing Data, Level 3-4, Manipulative Kit	16-AUG-2021	4.00	Each	\$142.00	\$568.00
22	978-1-4652-703 7-5	Item #978-1-4652-7037-5, In Search of the Yeti: Measuring Up, Down and All Around, Level 3-4, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00
23	978-1-4652-809 0-9	Item #978-1-4652-8090-9, In Search of the Yeti: Measuring Up, Down and All Around, Level 3-4, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123

ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Please note that our billing address has changed.

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

0736 AUG-2021	
AUG-2021	
nberly Young	
*	apsva.us
6001128	
	tillo, Esmeralda -228-6160 eralda.castillo@ 6001128 ocurement-office

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

> Ship To: Innovation Elementary School Attn: Main Office

2300 Key Blvd Arlington, VA 22201

SUPPLIER:	KENDALL/HUNT PUBLISHING CO.
	4050 WESTMARK DRIVE
	DUBUQUE IA 52004

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
24	978-1-4652-704	Item #978-1-4652-7040-5, In Search	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	0-5	of the Yeti: Measuring Up, Down					
		and All Around, Level 3-4, Card Set					
		(includes Hint, Think Beyond, and					
2.5	050 4 4552 522	Word Wall cards)	16 1775 2021	1.00		412 00	* 40.00
25		Item #978-1-4652-6236-3, The	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	6-3	Tenth Street Pet Sanctuary:					
		Understanding and Using Decimals,					
26	070 1 4652 000	Level 4-5, Student Journal	16 AUG 2021	4.00	F 1	ф 221 00	Φ004.00
26	978-1-4652-808 5-5	Item #978-1-4652-8085-5, The	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	3-3	Tenth Street Pet Sanctuary: Understanding and Using Decimals,					
		Level 4-5, Teacher Guide + 3-year					
		eBook license					
27	978-1-4652-653	Item #978-1-4652-6537-1, The	16-AUG-2021	4.00	Each	\$43.95	\$175.80
27	7-1	Tenth Street Pet Sanctuary:	10 110 0 2021	4.00	Lacii	Ψ+3.73	φ173.00
	7 1	Understanding and Using Decimals,					
		Level 4-5, Card Set (includes Hint,					
		Think Beyond, and Word Wall					
		cards)					
28	978-1-4652-761	Item #978-1-4652-7615-5, The	16-AUG-2021	4.00	Each	\$183.70	\$734.80
	5-5	Tenth Street Pet Sanctuary:					
		Understanding and Using Decimals,					
		Level 4-5, Manipulative Kit					
29		Item #978-1-4652-6216-5, At the	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	6-5	Mall with Algebra: Working with					
		Variables and Equations, Level 4-5,					
		Student Journal					
30		Item #978-1-4652-8083-1, At the	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	3-1	Mall with Algebra: Working with					
		Variables and Equations, Level 4-5,					
		Teacher Guide + 3-year eBook					
		license					



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123 ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Please note that our billing address has changed.

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

	Page:	5 of 8
Purchase Order	2200736	
Purchase Order Date	02-AUG-2021	
Change Order Number	0	
Change Order Date		
Procurement Specialist/Phone	Kimberly Young	
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@a	psva.us
FEIN	54-6001128	
Website: https://www.apsva	a.us/procurement-office/	

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

Ship To: Innovation Elementary School

Attn: Main Office 2300 Key Blvd Arlington, VA 22201

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

DUBUQUE IA 52004

4050 WESTMARK DRIVE

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
31	978-1-4652-660	Item #978-1-4652-6608-8, At the	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	8-8	Mall with Algebra: Working with					
		Variables and Equations, Level 4-5,					
		Card Set (includes Hint, Think					
32	978-1-4652-622	Beyond, and Word Wall cards) Item #978-1-4652-6221-9,	16-AUG-2021	4.00	Each	\$12.00	\$48.00
32	1-9	Treasures from the Attic: Exploring	10-AUG-2021	4.00	Lacii	\$12.00	φ46.00
	1 /	Fractions, Level 4-5, Student					
		Journal					
33	978-1-4652-808	Item #978-1-4652-8086-2,	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	6-2	Treasures from the Attic: Exploring					
		Fractions, Level 4-5, Teacher Guide					
		+ 3-year eBook license				*	
34		Item #978-1-4652-6610-1,	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	0-1	Treasures from the Attic: Exploring					
		Fractions, Level 4-5, Card Set (includes Hint, Think Beyond, and					
		Word Wall cards)					
35	978-0-7575-452	Item #978-0-7575-4521-4,	16-AUG-2021	4.00	Each	\$132.76	\$531.04
	1-4	Treasures from the Attic: Exploring				7-0-1110	4000101
		Fractions, Level 4-5, Manipulative					
		Kit					
36	978-1-4652-621	Item #978-1-4652-6218-9, Getting	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	8-9	Into Shapes: Exploring					
		Relationships Among 2-D and 3-D					
37	978-1-4652-808	Shapes, Level 4-5, Student Journal Item #978-1-4652-8084-8, Getting	16-AUG-2021	4.00	Each	\$221.00	\$884.00
31	4-8	Into Shapes: Exploring	10-AUG-2021	4.00	Lacii	φ221.00	φοο 4 .υυ
	7 0	Relationships Among 2-D and 3-D					
		Shapes, Level 4-5, Teacher Guide +					
		3-year eBook license					
38	978-1-4652-660	Item #978-1-4652-6609-5, Getting	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	9-5	Into Shapes: Exploring					
		Relationships Among 2-D and 3-D					
		Shapes, Level 4-5, Card Set					
		(includes Hint, Think Beyond, and Word Wall cards)					
		word wan cards)					



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123

Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

ACCOUNTS PAYABLE

2110 Washington Blvd

Please note that our billing address has changed.

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

	Page:	6 of 8
Purchase Order	2200736	
Purchase Order Date	02-AUG-2021	
Change Order Number	0	
Change Order Date		
Procurement Specialist/Phone	Kimberly Young	
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@a	osva.us
FEIN	54-6001128	
Website: https://www.apsva		

SUPPLIER: KENDALL/HUNT PUBLISHING CO. 4050 WESTMARK DRIVE DUBUQUE IA 52004

Ship To: Innovation Elementary School

the REQUISITIONER shown above.

Attn: Main Office 2300 Key Blvd Arlington, VA 22201

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
39	978-0-7575-408 6-8	Item #978-0-7575-4086-8, Getting Into Shapes: Exploring Relationships Among 2-D and 3-D Shapes, Level 4-5, Manipulative Kit	16-AUG-2021	4.00	Each	\$153.95	\$615.80
40	978-1-4652-623 0-1	Item #978-1-4652-6230-1, What are Your Chances? Probability in Action, Level 5-6, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00
41	978-1-4652-808 9-3	Item #978-1-4652-8089-3, What are Your Chances? Probability in Action, Level 5-6, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00
42	978-0-7575-452 2-1	Item #978-0-7575-4522-1, What are Your Chances? Probability in Action, Level 5-6, Manipulative Kit	16-AUG-2021	4.00	Each	\$115.47	\$461.88
43	978-1-4652-622 7-1	Item #978-1-4652-6227-1, Fun at the Carnival: Using Proportional Reasoning, Level 5-6, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00
44	978-1-4652-622 7-1	Item #978-1-4652-8088-6, Fun at the Carnival: Using Proportional Reasoning, Level 5-6, Teacher Guide + 3-year eBook license	16-AUG-2021	4.00	Each	\$221.00	\$884.00
45	978-1-4652-661 2-5	Item #978-1-4652-6612-5, Fun at the Carnival: Using Proportional Reasoning, Level 5-6, Card Set (includes Hint, Think Beyond, and Word Wall cards)	16-AUG-2021	4.00	Each	\$43.95	\$175.80
46	978-0-7575-485 5-0	Item #978-0-7575-4855-0, Fun at the Carnival: Using Proportional Reasoning, Level 5-6, Manipulative Kit	16-AUG-2021	4.00	Each	\$136.10	\$544.40
47	978-1-4652-622 4-0	Item #978-1-4652-6224-0, Record Makers and Breakers: Analyzing Graphs, Tables and Equations, Level 5-6, Student Journal	16-AUG-2021	4.00	Each	\$12.00	\$48.00



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123 ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Please note that our billing address has changed.

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

	Page:	7 of 8
Purchase Order	2200736	
Purchase Order Date	02-AUG-2021	
Change Order Number	0	
Change Order Date		
Procurement Specialist/Phone	Kimberly Young	
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@	apsva.us
FEIN	54-6001128	-
Website: https://www.apsva	a.us/procurement-office	/

SUPPLIER: KENDALL/HUNT PUBLISHING CO. 4050 WESTMARK DRIVE

DUBUQUE IA 52004

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

Ship To: Innovation Elementary School Attn: Main Office 2300 Key Blvd Arlington, VA 22201

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
48	978-1-4652-808	Item #978-1-4652-8087-9, Record	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	7-9	Makers and Breakers: Analyzing Graphs, Tables and Equations, Level					
		5-6, Teacher Guide + 3-year eBook					
		license					
49	978-1-4652-661	Item #978-1-4652-6611-8, Record	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	1-8	Makers and Breakers: Analyzing					
		Graphs, Tables and Equations, Level 5-6, Card Set (includes Hint, Think					
		Beyond, and Word Wall cards)					
50	978-1-4652-704	Item #978-1-4652-7044-3, Designer	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	4-3	Boxes: Exploring Volume and					
		Surface Area, Level 5-6, Student					
7.1	070 1 4652 000	Journal	16 4110 2021	4.00	F 1	Φ221.00	фоо 4 оо
51	978-1-4652-809 2-3	Item #978-1-4652-8092-3, Designer Boxes: Exploring Volume and	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	2-3	Surface Area, Level 5-6, Teacher					
		Guide + 3-year eBook license					
52	978-1-4652-704	Item #978-1-4652-7046-7, Designer	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	6-7	Boxes: Exploring Volume and					
		Surface Area, Level 5-6, Card Set					
		(includes Hint, Think Beyond, and Word Wall cards)					
53	978-1-4652-903	Item #978-1-4652-9030-4, Designer	16-AUG-2021	4.00	Each	\$243.26	\$973.04
	0-4	Boxes: Exploring Volume and				7-101-0	4,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		Surface Area, Level 5-6,					
		Manipulative Kit					
54		Item #978-1-4652-7041-2, Our	16-AUG-2021	4.00	Each	\$12.00	\$48.00
	1-2	Environment Matters: Making Sense of Percents, Level 5-6, Student					
		Journal					
55	978-1-4652-809	Item #978-1-4652-8091-6, Our	16-AUG-2021	4.00	Each	\$221.00	\$884.00
	1-6	Environment Matters: Making Sense					
		of Percents, Level 5-6, Teacher					
		Guide + 3-year eBook license					



PROCUREMENT OFFICE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6123

Please note that our billing address has changed.

ACCOUNTS PAYABLE 2110 Washington Blvd Arlington, Virginia 22204 Telephone: (703) 228-6121 Email: aps.payables@apsva.us

Unless otherwise instructed, please send invoices to the address above, Attn: Accounts Payable.

	Page: 8 of 8
Purchase Order	2200736
Purchase Order Date	02-AUG-2021
Change Order Number	0
Change Order Date	
Procurement	Kimberly Young
Specialist/Phone	
Requisitioner/Ph#/Email	Castillo, Esmeralda 703-228-6160 esmeralda.castillo@apsva.us
FEIN	54-6001128
Website: https://www.apsva	n.us/procurement-office/

This PURCHASE ORDER NUMBER shown above must appear on all invoices, packing slips & related correspondence. For questions regarding the order, contact the REQUISITIONER shown above.

Ship To: Innovation Elementary School

Attn: Main Office 2300 Key Blvd Arlington, VA 22201

SUPPLIER: KENDALL/HUNT PUBLISHING CO. 4050 WESTMARK DRIVE DUBUQUE IA 52004

Payment Terms	Freight Terms	FOB
NET 30	Prepaid	Destination

Line	Vendor Part	Item Description	Due Date	Quantity	UOM	Unit Price	Amount
56	978-1-4652-704	Item #978-1-4652-7043-6, Our	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	3-6	Environment Matters: Making Sense					
		of Percents, Level 5-6, Card Set					
		(includes Hint, Think Beyond, and					
		Word Wall cards)					
57	978-1-4652-661	Item #978-1-4652-6613-2, What are	16-AUG-2021	4.00	Each	\$43.95	\$175.80
	3-2	Your Chances? Probability in					
		Action, Level 5-6, Card Set					
		(includes Hint, Think Beyond, and					
		Word Wall cards)					
58		Shipping	16-AUG-2021	1.00	Each	\$1,194.56	\$1,194.56

The Purchase Order Terms and Conditions found on the Arlington Public Schools Procurement Office Website, at the link provided below, are incorporated in, and become part of, this contract. It is the responsibility of the Vendor to carefully read and understand the Purchase Order Terms and Conditions.

The Purchase Order Terms and Conditions have been amended effective July 1, 2020.

https://www.apsva.us/wp-content/uploads/2020/07/2020-07-01-Purchase-Order-TsCs.pdf

IMPORTANT: There have been incidents of scammers pretending to be school representatives and ordering thousands of dollars of goods. <u>Purchases by APS are authorized only if an APS Purchase Order is issued in advance of the transaction</u>, indicating that the ordering agency has sufficient funds available to pay for the purchase. Vendors providing goods or services without a signed APS Purchase Order, do so at their own risk.

Authorized by:

David J. Webb, C.P.M.

Director of Procurement

Purchase Order Total:

\$25,085.68